086,

300




0-000 2

25

[@NON o o

ol

9
0-06.

c H2 3.

05.

06 -

10(0)

10

*x%xxx%x_.00000-10

cobh
oOrE

06 -
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0-00

03

520

566

086

6,086,300 2. 291,000 229,1002,
T 6,086,300 [ o 3,242,000 324,2003,
- 2.520,100 | Vo 6,
”””””””””” 3,566,200

06 -

* * * * * %

-00000-10



0-0004

| K
| 1,200,115
| 2
§ 88,720
4
35
2 88,720 06051
2)
566, 000
1 566, 000 06051
2)
473,350
( )
o.1km ]
1 97,290 06051
A R R
0. 1k m 22,250 06051

06 -

|
* * * * * %

-00000-10



0-0005

( )
0O 1,000 /12 A 0
1
3 80,970 06051
B M
‘ A R N R
35,460 06051
( )
A R N R
57,280 06051
( )
45m 0
20m
80,100 06051
2)
26, 295
(
e R I R
15, 465 06051
( )
10, 830 06051
2)
45, 750
45, 750 06051

06 -

|
* * * * * %

-00000-10



00006

1,200,115
77777777777777777777777777777777777777777777777777777 5,935
777777777777777777777 1 5,935 B
77777777777777777777777777777777777777777777777777777 49,000
777777777777777777777777777777777777777777777777777777777 54, 935
777777777777777777777777777777777777777777777 1,255,050
77777777777777777777777777777777777777777777 1,085,950
777777777777777777777777777777777777777777777 2.291,000
777777777777777777777777777777777777777777777777777777 22 9,100

06 -

!
* ok ok ok K ok
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0-0007

20,

100

06 -

|
* * * * * %

-00000-10



0-0008

1)
1,244, 764
2)
991, 264
1 195,400 06051
1 743,764 06051
1 52,100 06051
2)
253, 500
1 253,500 06051
1,244, 764

06 -

|
* * * * * %

-00000-10



000009

7,842
,,,,,,,,,,,,,,,,,,,,, 1 7,842 B
777777777777777777777777777777777777777777777777777777777 14, 873
777777777777777777777 11 4,873 B
( N S R P
1 170,000 o
777777777777777777777777777777777777777777777777 1,437,479
777777777777777777777777777777777777777777777777777777 67 0, 305

06 -

!
* ok ok ok K ok

-00000-10



00010

2,107,784
77777777777777777777777777777777777777777777777 1,134,216
777777777777777777777777777777777777777777777 3,242,000
777777777777777777777777777777777777777777777777777777 32 4,200
77777777777777777777777777777777777777777777777 3,566,200
777777777777777777777777777777777777777777777 6,086,300

06 -

!
* ok ok ok K ok

-00000-10



0-0011

SC006 0 -0001
35
R0930
( ) 6 . 47} 100 82,600
123
R0940
( ) 6 . 36|, 900 21,400
123
R0950
( ) 7. 34|, 600 42,200
123
R00000O0O9
0. 25, 900 12,950
123
RO710
( ) 1. 54|, 600 54,600
123
R0720
( ) 2. 47} 100 17,750
123
R0O730
( ) 2 . 36, 900 92,250
123
RO740
( ) 1. 34|, 600 34,600
123
+00
058, 350 1, 05180,5385305 0 * 1
4
#01
3 . % 058|, 350 31,750
x 4
#0 2
2 . % 058|, 350 26, 458
X
#0 3
7. % 058|, 350 79,376
X

06 -

* * * * * %

-00000-10



0-0012

SC0O06 0 -0001
35
#04
9 % 1,090}, 100 98,109
( + ) X
+00
1,294, 043 1, 55122,9845014 3 * 1. 2
+00
1,552,851 4145, 5326875 1/ 3 5
1 44,360
A=5 4 B=15
= 0.2
= 1 0.200 =

06_******

-00000-10



0-0013

V1000 0 -0002
1
SC000023 0-00083
0. 003km2 1 1,132,000 1,132,000
/ 1/ 500
+00
1,132, 000 6161, 3020000 0 * 0 . 5
x0.5
#91
1 0
1 66, 000

06 -

* * * * * %

-00000-10



0-0014

SC000023 0 -0003
0. 003 km2 / 1/ 500 1
R0930
( ) 1.830 47, 100 86, 193 6. 1* . 3
123
R0940
( ) 2.820 36, 900 04, 058 9. 4~ . 3
123
R0O950
( ) 2.460 34, 600 85,116 8. 2* . 3
123
RO710
( ) 0. 090 54, 600 4,914 0. 3~ . 3
123
RO720
( ) 0. 930 47, 100 43, 803 3.1~ . 3
123
RO730
( ) 2.400 36, 900 88, 560 8*0
123
+00
412, 644 1421, 2664444 * 1
4
#01
6.5 % 412| 644 26, 821
X 4
#0 2
0.5 % 412| 644 2,063
X
#0 3
2.0 % 412, 644 8, 252
X
#04
5 % 439| 465 21, 973
( + ) %
+00
471, 753 1, 3427, 1270573 * 2 . 4

06 -

* * * * * %

-00000-10



0-0015

SC000023 0O -0003
0. 003km2 / 1/ 500
1 1,132,000
A=0.003 ( km2) B=14
c=3 1/ 500
y /| 100 =|( 718.95 + 28.105 100 = ( 718.95 . 003 +
= 1.4

= + 1.40 = 2.40

06-******_00000-10



0-0016

( ) SC082 0 -0004
0. 1km

RO710

( ) 0. 54, 600 32,760
R0O720

( ) 0. 47,100 42,390
RO730

( ) 0. 36, 900 22,140
1 97,290

A=0. 1 ( km)

06 -

* * * * * %

-00000-10



0-0017

SC070 0O -0005
/ kK m
R0930
( ) 1. 47|, 100 75, 360
12
R0940
( ) 1. 36, 900 51, 660
12
+00
127}, 020 2172, 7002200 * 1
#01
2 . % 127}, 020 2,540
X
#0 2
7 . % 127}, 020 9,526
X
+00
139, 086 2123,9503876 * 1 . 6
1 m 22,500
A=15 C=3 1,000 /12
= 0
= 0.
= 1 0.60 + D0 1.60

06 -

* * * * * %

-00000-10



0-0018

) SCo072 0O -0006
0 1,000 /| 12 1 k m
R0O9 30
( ) 2 47,100 17,750
12
R0O9 40
( ) 2 36|, 900 03,320
12
R0O950
( ) 2 34|, 600 76,120
12
R0O720
( ) 1. 47,100 84,780
12
R0O730
( ) 1. 36|, 900 66, 420
12
+00
448,390 4484, 8339900 * 1
3
#01
4 0% 448,390 17,935
X 3
#02
6 . 0% 448,390 26, 903
X
#03
10 0% 466,325 46,632
( + ) %
+00
539, 860 0593, 9789600 * 1 . 5
1 m 09, 700
A=15 C=3 1,000 /12
D=2 E=2 20m

06 -

*

* * * % %

-00000-10



0-:00109
( ) SCo072 0 -0006
0 1,000 [ 12 1 1 k m

06-******-.00000-10



0-0020

B M SC090 0O -0007
/ kK m
R0930
( ) 1. 47,100 47,100
12
R0940
( ) 1. 36, 900 44,280
12
R0950
( ) 0. 34,600 31,140
12
RO720
( ) 0. 47|, 100 18, 840
12
R0O730
( ) 1. 36, 900 40,590
12
RO740
( ) 0. 34,600 10, 380
12
+00
192, 330 9129, 2333300 * 1
3
#01
2. % 192, 330 4,808
3
#0 2
2. % 192, 330 4,808
#03
10 % 197, 138 19, 713
( ) X
+00
221, 659 5242,1665549 * 1 . 6
1 m 54,600

06 -

* * * * * %

-00000-10



0-0021
BM SC090 0 -0007

A=15 / cC=3 0 1,000 /12

= O
o
o

[cNeoNe]

.600 +) 0.000 = 1.600

06-******-.00000-10



0-0022

( SC074 0O -0008
/ kK m
R0930
( ) 1. 47|, 100 75, 360
12
R0940
( ) 1. 36, 900 66, 420
12
R0950
( ) 1. 34,600 48, 440
12
RO720
( ) 1. 47,100 61, 230
12
R0O730
( ) 1. 36, 900 40,590
12
RO740
( ) 0. 34,600 17, 300
12
+00
309, 340 0390, 9334400 * 1
3
#01
2. % 309, 340 7,733
X 3
#0 2
3. % 309, 340 9,280
X
#03
10 % 317,073 31,707
( + ) %
+00
358, 060 7325,8809660 * 1 . 6
1 m 72,800

06 -

* * * * * %

-00000-10



0-0023
( ) SCo074 0 -0008

A=15 / cC=3 0 1,000 /12

= O
o
o

[cNeoNe]

.600 +) 0.000 = 1.600

06-******-.00000-10



0-0024

( SC076 0 -00009
45 m 20 m kK m
R0930
( ) 6 . 471 100 01, 440
12
R0940
( ) 7. 36, 900 65, 680
12
R0O950
( ) 5 . 34,600 83, 380
12
RO720
( ) 3. 47,100 83,690
12
R0O730
( ) 3. 36,900 25, 460
12
RO740
( ) 1. 34,600 51, 900
12
+00
111, 550 1, 11111,1515505 0 * 1
3
#0 1
2 . % 111} 550 27,788
x 3
#02
3. % 111, 550 33,346
X
#03
10 % 139, 338 13, 933
( + ) X
+00
286 617 1, 80112,8266631 7 * 1. 4
1 m 1,801,000

06 -

* * * * * %

-00000-10



0-0025

( ) SC076 0O -00009
4 5m 20m 1 K m
A=15 / cC=3 0O 1,000 /12
D=2 1 E=1 45m
F=2 20 m
= 0.600
= 0.000D
= -0.100
= -0.100
= 1 + 0.600 +|, 0.000 + -0.100| + -0.1200| = 1.400

06-******-.00000-10



0-0026

( ) SF104 0 -0010
( ) m?2
R0940
( ) 0. 36, 900 11,070
1
R0950
( ) 0. 34,600 10, 380
1
R0O730
( ) 0. 36, 900 14, 760
1
R0O740
( ) 0. 34,600 13,840
1
#01
1. % 50, 050 500
X
#01
2. % 50, 050 1,001
X
+00
51, 551 5511, 555511* 1
1 2 51,550
A=5 ( )
( )
0.000
= + 0.000 = . 000

06 -

* * * * * %

-00000-10



0-0027

( ) SF109 0O -0011
m2
RO730
( ) 0.50 36, 900 18, 450
1
RO740
( ) 0.50 34,600 17,300
1
#01
1 % 35, 750 357
X
1 2 36, 100

06 -

* * * * * %

-00000-10



0-0028

V1002 0 -0012
1

RO710

( ) 0.5 54,600 27,300

RO730

( ) 0.5 36, 900 18, 450
#91

1 0

1 45, 750

06-******-.00000-10



0-0029

STM03001X1 0O -0013
E0OO0O01
.00 935 5,985
5,985
A=1 C=0
1,059,991
5, 935 1,059,991 0.56

06 -

* * * * * %

-00000-10



0-0030

V2001 0O -00114
1

V20011 0-0015
1 57,000 57,000

V20012 0-0016
1 95,600 95,600

V20013 0-0017
1 42,800 42,800

#91
1 0
1 95,400

06 -

* * * * * %

-00000-10



0-0031

V20011 0 -0015
« ) R0620
( ) 1 57, 000 57,000
#91
1 0
1 57,000

06 -

* * * * * %

-00000-10



0-0032

V20012 0 -0016
« ) R0O630
( ) 0. 47| 200 23,600
( ) RO6 40
( ) 1 38,400 38,400
RO650
( ) 1 33,600 33,600
#91
1 0
1 95, 600

06 -

* * * * * %

-00000-10



0-0033

V20013 0 -0017
( ) RO630
( ) 0. 47| 200 23,600
( ) RO6 40
( ) 0. 38,400 19,200
#91
1 0
1 42,800

06 -

* * * * * %

-00000-10



0-0034

SA070401010 0 -0018
1
SA070401011 0-0019
1 61, 509 61,5009
SA070401011 0-0020
1 156, 853 156, 853
SA070401011 0-0021
1 168,569 168,569
SA070401011 0-0022
1 36|, 360 36, 360
SA070401011 0-0023
1 180, 689 180, 689
SA070401011 0-0024
1 139, 784 139, 784
1 743,764
A=2 100m B=126 ( m)
c=1 - F=1 [ ]
G=1 [ ] H=1 [ ]
| =1 [ ] J=1 [ ]
K=1 [ ]

06-******-.00000-10



0-0035

SA070401011 0 -00109
RO610
( ) 0.505 64, 800 32,724
8
« ) R0620
( ) 0.505 57, 000 28,785
8
#08
2 % 61, 5009 1,230
1 61,5009
A=2 100m B=126 ( m)
cC=1 - F=1
= * 3
= 0002 * 126,000 + 0.98 = 1.01 3 2
= .5 * 1.01 *| 1.0 = |0.505 4 3
( A) 0.5 * 1.01| * 1.0 = 0.505
#08 1230
06-****x%_00000-10



0-0036

SA070401011 0 -0020
1
RO610
( ) 1.010 64, 800 65, 448
8
« ) R0620
( ) 0.505 57, 000 28,785
8
( ) RO630
( ) 0.505 47| 200 23,836
8
( ) RO6 40
( ) 1.010 38, 400 38, 784
8
#08
2 % 156| 853 3,137
1 156, 853
A=2 100m B=126 ( m)
cC=1 - F=2
- * 3
= 0.0002 * 126. 000 + 0.98 = 1.01 3 2
= 1
= 1.0 * 1.01 *| 1.0 = 1.010 4 3
(A) = 0.5 * 1.01 * 1.0 = 0.505 4 3
(B) = 0.5 * 1.01/ * 1.0 = 0.5p05 4 3
(C) = 1.0 * 1.01 * 1.0 = 1.0410 4 3
#08 3137

06-******-.00000-10



0-0037

SA070401011 0 -0021
« ) R0620
( ) 0.505 57, 000 28, 785
8
( ) R0O630
( ) 1.010 47| 200 47,672
8
( ) R0O640
( ) 1.515 38, 400 58, 176
8
R0O650
( ) 1.010 33,600 33,936
8
#08
2 % 168, 5609 3,371
1 168, 569
A=2 100m B=126 ( m)
C=1 - F=23
- * 3
= 0.0002 * 126000 0.98 = 1.01 3 2
(A) = 0.5 * 1.01| * 1. = 0.505 3
(B) = 1.0 * 1.01| * 1. = 1.0410 3
(C) = 1.5 1.01 * 1 = 1.515 3
= * 1.01 * 1.0 10 4 3
#08 3371
06-****+x_00000-10



0-0038

SA070401011 0 -0022
( ) R0O6 40
( ) . 505 38,400 19,392
8
R0O650
( ) . 505 33,600 16, 968
8
#08
0% 36,360 727
36, 360
A=2 100m B=126 ( m)
c=1 - F=4
- * 3
= 0.0002 * 126,000 .98 = 1.01 3 2
(C) = 0.5 * 1.01| * 1 0.505
= 5 * 1.01 * 1.0 505 4 3
#08 7027
06-******_00000-10



0-0039

SA070401011 0 -0023
1
R0O610
( ) 1.010 64 800 65, 448
8
« ) R0620
( ) 0.505 57, 000 28, 785
8
( ) R0O630
( ) 1.010 47| 200 47,672
8
( ) R0O640
( ) 1.010 38, 400 38, 784
8
#08
2 % 180, 689 3,613
1 180, 689
A=2 100m B=126 ( m)
C=1 - F=5
- * 3
= 0.0002 * 126. 000 + 0.98 = 1.01 3 2
= 1
= 1.0 * 1.01 *| 1.0 = [1.010 4 3
(A) = 0.5 * 1.01|* 1.0 = 0.505 4 3
(B) = 1.0 * 1.01/ * 1.0 [ 1.010 4 3
(C) = 1.0 * 1.01|* 1.0 = 1.010 4 3
#08 3613

06-******-.00000-10



SA070401011

0 -0024

0-0040

R0O630
47,672

R0640
58,176

R0O650
33, 936

#08
2,795

39, 784

100m

M ®

[EEY

o
o
o
o
N

*
H
N
(o]

[)

[EEY

==
U1 o

A=2
Cc=1
( B)
(C)
#08
06 - * * * % * %

-00000-10



0-0041

V2000 0 -0025
1
« ) R0620
( ) 0.5 57, 000 28,500
« ) R0O630
( ) 0.5 47| 200 23,600
#91

1 0
1 52,100

06-******-.00000-10



0-0042

SA010100010 0 -0026
RO610
( ) 1.5 64, 800 97,200
« ) R0620
( ) 1.5 57, 000 85, 500
( ) RO630
( ) 1.5 47| 200 70,800
1 53,500

[$208)]

= -

06 -

* * * * * %

-00000-10



0-0043

STMO3001X3 0O -0027
E0OO0O01
.00 842 7,842
7,842
A=1 C=0
1,244,764
7,842 1,244, 764 0.63

06 -

* * * * * %

-00000-10



0-0044

STM01018 0 -0028
E0OO0O01
1.00 14, 873 14, 873
1 14, 873

06 -

* * * * * %

-00000-10



0-0045

( ) STM02018X3 0 -00209
E0001
1.00 170, 000 70,000
1 70,000
A=5
170,000 = ( 6.9 * 1,244 ~ 0.45 ) 1,000
[ ]
= 1,244,764
= -0
06-****%%*_00000- 10



0-0046

X1000
Y1999
1,200,115
Y2999
88, 720
SC006 4 44A360B=15
35 8B8A=4 ( ) , B= /
Y2999
566, 000
V1000 566, 000
566, 000
Y2999
473,350
SC082 ( ) 97A2001
0.1km 9 7A = ( km)
SCO070 222A508, C=3
/ K m 2 2A = / , C= 0O 1,000 /[ 12
SC072 ( ) 809A%0B, C=3, D=2, E=2
0O 1,000 /[ 12 kK m 8 0A = , C= 0O 1,000 /[ 12
1, E= 20m
SC090 BM 354A608, C=3
/ kK m 3 BA= / , = 0O 1,000 /[ 12
SC074 ( ) 572A808, C=3
/ kK m 57A = / , C= 0O 1,000 /[ 12
SC076 ( ) 1,801A608,C=3, D=2, E=1, F=2
45m K m 1 80A= / , = 0O 1,000 /[ 12
1, E= 45m , F= 20
Y2999
26, 295
SF104 ( 51 A550
( ) m2 15BA= ( )
SF109 ( ) 3, 100
m2 10,830

06_******

-00000-10



0-0047

Y2999
45, 750
V1002 1 45,750
45, 750
GO0OOO
1,200,115
20045
5, 935
STMO0O3001X1 1 5A83%5
5A =
200211 | 49000=2.3*(1059**0.44)*1Q900
49, 000
G1000
54, 935
G4100
1,255,050
Z0020 | 1,255,050
1,035,.9.5.0 0.8260
...... 1,255,050
1,036,671
...... 1036671=1255050*0.8260 0.
G4800
2,291,000
20038 | L 2,291,000
229,.1.0.0...... 0.1000
...... 2,291,000
...... 229100=2291000*0.100
G5000
2,520,100
X3000
Y1999 E=5
1, 244E=(X3000 )
Y2999 E=5
991E=(X3000 )

06-******-.00000-10



0-00438

V2001 195,400
195,400
SA070401010 743A%#84B=126,C=1, F=1, G=1, H=1, 1 =1, J=
743A=  100m . B= (m), C=-, F=[|]
, H=[ 1] =1 ] |
L K=[ ]
V2000 52,100
52,100
Y2999 E=5
25B3E=(X3000 )
SA010100010 253A500
253A=
G00O0O
1,244,764
Z0045
7,842
STM03001X3 7A822
7A =
Z0041
14,873
STMO1018 14,873
14,873
Z0047
170,000
STM02018X3 ( ) 170A6680
170A=
G1300
19,715
G2400
1,437,479
zoos7 | 670305=1244764*0.35/0.65
670,305
G4700
2,107,784
zoos3o | 1135041=2107784*0.35/0. 65
1,134,216

06-******-.00000-10
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0-0049

G4800
3,24 000
20038 | 3,242,000
32 2.0.0 0.1000
...... 3,242,000
...... 324200=3242000*0.100
G5000
3,56 200
G600O
6, 08 300
06-******-.00000-10
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0-0051

STMO030001 X101 3 A=1, C=0
5, 935

V2001 0O -0014
195,400

V200110 -0015
57,000

V200120 -0016
95,600

V200130 -Q0017
42,800

SAO7 041|001 0-1000 1 8 A=2,B=126,C=1, F=1, G=1, H
743, 764

SAO0704001 0-1010 1 9 A=2,B=126,C=1, F=1
61,509

SAO0704|001 0-1010 2 O A=2,B=126,C=1, F=2
156, 853

SAO0704001 0-1010 2 1 A=2,B=126,C=1, F=3
168, 569

SAO 704|001 0-1010 2 2 A=2,B=126,C=1, F=4
36, 360

SAO 704|001 0-1010 2 3 A=2,B=126,C=1, F=5
180, 689

SAO704|001 0-1010 2 4 A=2,B=126,C=1, F=6
139, 784

06_******

-00000-10



0-0052

V2000 0 -Q0025

1 52,100
SAO010 1000 0-1000 2 6 A=1

1 253,500
STMO030001 X30027 A=1, C=0

1 7,842
STM010108 - Q028

1 14,873
STMO0 20108 X30029 ( ) A=5

1 170, 000

06-******-.00000-10



0-0053
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